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                 SECTION-A     (5x4=20 Marks) 

 Answer any Five questions from the following 

 

1. Given the two regression coefficient x on y=+0.542 and y on x=+0.905. Calculate the 

 coefficient of correlation between x and y. 

y x =+0.542 xy=+0.905. xy



2. Find the Arithmetic mean method, the index number from the following data. 


 

Commodity  

 
Base price (Rs.) 

 
Current price (Rs.) 

 
Rice  30 35 

Wheat  22 25 

Fish  54 64 

Potato  20 25 

Coal  15 18 





3. Calculate the 3 yearly moving averages to determine trend component of the following time 

 series. 




Year: 

 1968 1969 1970 1971 1972 1973 1974 1975 1976 1977 

Production: 

 21 22 23 25 24 22 25 26 27 26 


 

4. In how many ways can a committee of 4 people be formed from a group of 7 ? 





5. What is the probability that a non-leap year should have 
 (i) 53 Sundays  (ii) 52 Sundays 
 (i) (ii)


  

6. What is the “Trend”?  
 

7. Define Combinations.  
 

8. 6 coins are tossed at the same time find the probability that 4 heads are occurred. 


Contd….2 
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                  SECTION-B     (5x12=60 Marks) 

Answer all the following questions 

 
 

9.   (a) Define Regression and what are the differences between correlation and regression. 

                  
(OR) 

       (b) From the following data obtain the two regression equations?  

                 
X: 2 3 4 5 6 

Y: 3 2 5 6 4 

 

10.  (a) Construct index numbers of price from the following data by applying. 

       
  (i) Laspeyers   (ii) Paasches    

(iii) Fisher ideal methods  
   

Commodity 

 

2018 2019 

Price 

 
Quantity 

 

Price 

 
Quantity 

 

A 4 16 8 12 

B 10 20 12 10 

C 8 28 10 20 

D 4 38 4 26 

                 

(OR)
      (b) Calculate: (a) Fixed base method  (b) Chain base index numbers from the following data? 

      
 

 

Year 

 
1996 1997 1998 1999 2000 2001 2002 2003 2004 

Production 


(1000 Kwt) 

24 26 29 23 28 29 30 34 39 

 

 

11.   (a) Find the 5 yearly moving averages from the following: 

         
  

Year 

 
2008 2009 2010 2011 2012 2013 2014 2015 2016 2017 

Sales Rs. 

 150 170 196 180 190 216 248 280 300 320 

 

 (OR) 
       (b) What is least square method and explain its advantages and disadvantages? 

                  

 

Contd….3 
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12.   (a) Explain the basic concepts of probability theorem.  

                 
(OR) 

       (b) Two dice are rolled. Find the probability to 6 numbers events when two dice are rolled. 

                 
 

 

13.  (a) Explain the features of Poisson Distribution. 

                  
(OR) 

     (b) For a normal distribution with mean 50 and standard deviation 15, find Q1 and Q3. 

                  Q1  Q3     

           
 


